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Hartmann & Burton (1997): 0.5° <1< 240°

Kerr et al. (1986): 240.5° <1< 350°

Burton & Listz (1983): 350° << 3595°
05° , 1.0 - 55 km/s

12C0O(J=1-0)
Dame et al. 2001 :0° <1<360° ,-15° <b<+15°
0.125° -0.250 ° . 1.3 km/s




inner Galaxy R<R;) : Clemens(1985)
outer Galaxy R> R, ) : Dehnen & Binney (1998)
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C=1.82 x 108 (HI),
C=1.80 x 10%0 (CO; Dame et al. 2001)
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ny[em-8]=ny,, sech?((z — zo)/h

(Nhio1r 201, Npyops Z0y)

nylem=3] = (ny,0; Sech?((r; tan b —zo,)/h
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Tyenz [Mo PC_2]

z Spitzer (1942)
Nyoi(2) = Ny sech?(z/h)

Ny (2) = max(n, sech?(z/h) , ng,,)
00 +00

NHI =2h (nsat Iog((n00-5 + (nO_nsat) 0'5)/nsat0'5) + no(l_(l_nsat/no) 0'5))
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